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O System' S WILHI TESPECt: tor specification R'is
AIEdn timeito next failure to satisfy R.

J assumptions:
_;fl‘fﬂﬁdependence wrt Subspecification. R is a
= monolith. Failing any requirement.

. Independence wrt Stakeholder. All stakeholders
have the same stake in failure free operation.




. Securlty. failure with respect to security
ieguirements.

Necessary: distinctions?

‘0 Captures requirements dependenues
(Subsumptions, redundancies).

® Integrated measure of failure cost, regardless of
source.
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x FailCost << Benefit.
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_-_' =—— MFC Go iff

MFC << ServiceValue.
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= (Cost matrix, stakeholder vs sub-specification.

'_ Difficulty: sub-specifications overlap.
Decompositions vary by stakeholder. MFC is a
sum only for orthogonal sub-specifications.
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Environmental
erdanization
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SIVENNEECOMPOSItON =
AAGECOMPOSItion =

Bl

'_ =% Smpoth ride
= & Adherence to flight vector
" Timeliness

SEAIFPOrt area residents
® CEO, airline

® CEO, aircraft
manufacturer

® CEO, insurance
company.

EUEl efficiency
Noise pollution’ standards

Responsiveness to AP
setting

Avoid reversing thrust in
mid air

Avoid stalling conditions

Overlap significantly.




s Safiety requirement,
passenger: Life.

o Safety requirement, CEO
of airline: corporate
image.

Safety requirement,
—==IF Passenger, tlmellness: manufacturer: future
~ scheduling inconvenience. sales.
Safety requirement,
insurance company:
value of insurance claims.

riequ Specifications: ordered by
nement Partial ordering.

__,fathce Preperties: Semi Lattice. Join exists
— conditionally ?addlng requirements). Meet exists
tinconditionally: %common requirements).
lenivedrsaI lower bound. No universal upper
ound.
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"'* CompOSItlon IS neither unique, nor orthogonal
—® Tllustration: 1155

=15@21@33D35®55
=]105@3DI1ID7 D55
=357 DI11.




- Interpretation: Relatively prime.




 P(SGA® ®R)=P(S R)xP(S R,).
C(SBAR ®R,))=C(S R)+C(S R)

’*' Interpretatlon being multiple of 11
makes no difference whether number is or
IS not multiple of 15. Being multiple of 9
makes us more likely to be multiple of 15.

i = Refinement Identities,
— | attice Identities.

® Probabilities: textbook material.




= (Sédaﬁ@&)) C(S R)+C(S R)-C(S (R®R)).

z 'v!:-fengstent W|th spirit of Value Based Software

——

- Engineering.

Very speculative; very preliminary. Urgent: sample
application.




